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(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

$7 -9 %I gier 9T, 3, &, &, § 3K T F FieT 7 & | 3779 qut 9 &

Yo7 & IR forad & |

qut g A g 1

YT &, &, § 3R T & o § AR =7 15397 77 & |

YT 37 & J97 G&IT 1 37K 2 Th-Uh 37% & o7 & | §79 I} T ¥eg 3797

TH JFTH 1 E | _

gygﬁag%wy@r3#5ﬁ-ﬁwﬁ%w?/ﬁ%mwwwm
/

YT § F T G 6 T 15 F7-d17 P & T & | §99 IR T 50 5]

g% 7 51 8 1 s . .

YFT § % J97 G&IT 16 & 21 YIT-914 37H] & Jo7 & | 399 I YT 70 5

JgdFH 57 8 / '

YT T & 97 G&IT 22 G 27 JIVTICHF HI9T T STEIRT 21-31 371 & J97 & |

5% GRTT I T &/

General Instructions :

(i)
(i)
(1i)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

U A
SECTION A

Ife ot ufer o st Efad T &, dr = 8 ?

What will happen if mucus is not secreted by the gastric glands ?

S oh IO oh €9 H GLEU o Gl ATHI hl FI ST |

List two advantages of water stored in the ground.
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SECTION B

3.  TohteeH Sa foh¥ had & ? UH Torell Toh @aul o1 A iR 30eh! &3 Totfae foew
fohEea St BiaT & | 2

What is water of crystallisation ? Name and give the formula of a salt
which contains water of crystallisation.

4. IO HATBIA @ ? WA H O o &1 B! hl FeAl SR | 2

What are testes ? List two functions performed by testes in human
beings.

5.  forelt HTem o1 1UacHIeh YT i OTd § fohd YRR TEfYd g g ? fomelt
ey & fohEl 3T WIEAH o HU AUSdIeh & (Y, 39 & HIEGHT H JehIsT o
7 % TS H, S5 I T | 2

HAYAT

fopelt W Y o1 miem X W 9E TuEdHish 146 8 a9 WieH X W fRuw
39T 1-5 2 | HTEW Y H TR hl A1 1 hiee, | fata § sehmr 1 =
3x108ms13 | 2
How is refractive index of a medium related to the speed of light ? Obtain
an expression for refractive index of a medium with respect to another in

terms of speed of light in these two media.

OR

The refractive index of a medium Y with respect to medium X is 1-6 and
the absolute refractive index of X is 1-5. Find out the speed of light in the

medium Y. The speed of light in vacuum is 3 x 108 msL.
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SECTION C

6. (2 =id (fgew) A ot Iy, IT=a: $9 i 0 G 8 WA W Hed
Ug Tt 8 | U U T aRA I TS ¥ o GH: THbA AT B |
i) o i o gam W W AG i aEqe Hict i gl St 7 ?
Hefera qitegeqr w1 9m fafae |
(i)  Tfda el gaqred o1 AW i IweR TR I fofau |
(b) (i) hfcerm BiEhe T (ii) I HEe & g faRa |
(a)  Silver articles generally turn black when kept in the open for a few

days. The articles when rubbed with tooth-paste again start
shining.

(1) Why do silver articles turn black when kept in the open for a
few days ? Name the phenomenon involved.

(ii)) Name the black substance formed and give its chemical
formula.

(b)  Write the formulae of (i) calcium phosphate and (ii)) ammonium
carbonate.

7. fr=fafea awt S qomn Hisssw § fu mu sifirasnn & TgEr hifvu
(a) oM R ATgeeM (Y] frse)
(b) UIRREW IR FARN (foregasrora)
(¢) HifIm TR Hfevrm (TIsTehdn)
Teh ThTUT H 379 ITK 1 HRUT ST, |

Compare the following elements as per the characteristics given in the
brackets :

(a)  Lithium and Nitrogen (Atomic radii)

(b)  Potassium and Chlorine (Electronegativity)
(c) Magnesium and Calcium (Valency)

Give reason for your answer in each case.

8. (a) pHThd FIT HAYGAT B ?

(b) T yier foflgw |
() pHThd & I=ad R Fqm a1 St wrelehar 1 3g@ i |
AYAT

31172 4



i
b
=

(a)
(b)

(a)
(b)
(c)
(a)

(b)

AU (STE) o fIgq-31ueed &l FAR-R Ufsha a1 %ad 3 ? 39
SishaT H HFHTAT TERIHS FHieRtol fieT |

Trel I TEAEl H PR ohe o HS IS Tsheeall i TH o
T R | foredt 31 Jeqoit B = SR |

What does pH scale measure ?

Write its range.
State the significance of highest and lowest values of pH scale.

OR
Why is electrolysis of brine called ‘Chlor-alkali process’ ? Write the
chemical equation involved in this process.
A few crystals of hydrated copper sulphate are heated in a dry
test-tube. Enlist any two observations.

9. 9 uEl (FEWE) TR shEd g ? fopet Irie w9 i SRifafy w1 qa g
fofau | IrE % Tg@ Saaqsita 3Tedd o1 AW fafaw ok 3geht gfdsraar 1

I+t hifv |

What is biomass ? State the basic principle behind the working of a
biogas plant. Name the main combustible component of biogas and also
state its percentage.

10. (a)

(b)
(a)
(b)

foRet STMER J@e § gM=a: dF A1 IR 9 TR @ B 8 | e

HIT |
Ja AaEe fh8 whEd @ 2 SR I |

A food chain generally has three or four trophic levels. Explain.

What is biological magnification ? Explain.

11.  =0H & NG G a1 3TR@ § 3 9T < T Afehd shiforg &l

(a)
(b)
(c)

G 39TId <ht ST 8,
T o T forgd 31maT o &9 § THA A 7, a
ToRgq maT W ywoT % 7w e ffea ® 9iafad g =niee |

JrqaT
= feu U geds ey B 1 S faiau -
(a) Toefem

(b) e

(c) Uleafdes 37
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12.

13.

Draw a diagram of neuron and name and label the part

(a)  where information is acquired,

(b)  through which information travels as an electric impulse, and

(c) where the electric impulse must be converted into a chemical
signal for onward transmission.

OR
State the function of each of the following plant hormones :
(a)  Gibberellins
(b)  Auxins

(e) Abscisic acid

(a) Scds ohl aRTST faRaw | ST=qati vl STdfmse ggrert vl =i Scafsid e
1fRT ?

(b) TMEl % Yg@ Ic&S A I A faRan R Ieomg Hifvw foh Icash
Yerdf ! IR O fhE &9 4 Im S ©

(a) Define the term excretion. Why should animals excrete waste

matter ?

(b) Name the main excretory organ of human beings and state the
form in which the excretory matter is thrown out of the body.

20 cm B g8 o fopell 3Tt | © Topelt fora o1 fepall gt W Tt ST =nfee
ek $HeT aTdlah JfdioFe & ¥ 30 cm G0 W YT &1 ? A7 fodl 4 cm &wal
2, 1 wfafers <1 o Fa IR |

HAUAT
20 cm B8 gl % fopHl adet gUur & @A ferell forar o1 =hal W S difep
3IGehT 1 AT Tated svTE wfdfers yred & 2
How far should an object be placed from a convex lens of focal length
20 cm to obtain its real image at a distance of 30 cm from the lens ?
Determine the height of the image if the object is 4 cm tall.

OR

Where should an object be placed in front of a concave mirror of focal
length 20 cm so as to obtain a two times magnified virtual image of the
object ?

31172 6



i
P
=
14.

feu o ufgyr # 39 hifsw
(a)  foiEehl o Jedeh 1 Fot Sfaliy
(b) UHfier A ¥ vafed foregq am
() 3Q 3N 4 Q% Yfdugehl & B0 W fayarr
4Q 20
s
30 30
wyy
A @
6V

In the given circuit, find :

(a)
(b)
(c)

81/172

Total resistance of the network of resistors
Current through ammeter A

Potential difference across 3 Q and 4 Q resistors

4 Q 2Q
VWV
3Q 3 Q
VWV
@ —o
6V
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(a)
(b)
(c)

= fou U el i gfse il -

forepq steall o degatt & famior § wehHT T W g 3T foRa ST B
o] fae o roft srawen w1 Iw T R S 7 |
forerq T=ror § T i TR U o i o1 S9FT foR STaT # |

Justify the following statements :

(a)
(b)
(c)

16. (a)
(b)

(a)

(b)

31172

Tungsten is used exclusively for filaments of electric lamps.
Series arrangement is not used for domestic circuits.

Copper and aluminium wires are usually employed for electricity
transmission.

W 3
SECTION D

AR 7 | 3ufedra qeArft 9t i fient 1 3g@ it |
= fou 7T T TR # g i i qge ShifeTe ST 3Heh FRIE
SUTT AT -
() AT <" 1 gl A1 guen 8 S
(i) ST <TF T Tehal T TAYH & AT |
(iii) AT <\ I BIhd g I TATH g AT (T | 3Tfeh |
SICIN
(iv) wgmTH R 1 geid &1 S
YT
IR@ ! TEEAT & TSleh 2 o 39 YA hi A& Hhife, Sod a8
YO AT a1 foh T 1 Tebrsr A1d gunt & firereRt 547 7 |
JYASHAT qgad R had & ? IYHSHAN YA W IHTNG QA

Tehfceh qERHTSTT <hl T 91T |
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(a)  State the role of ciliary muscles present in our eye.

(b)  Identify the defect of vision in each of the following cases and

suggest its corrective measure :
1) The eye lens has become milky and cloudy.
(i1)  The eye lens has excessive curvature.
(iii) The eye lens has large focal length (longer than normal).
(iv)  Ciliary muscles have weakened.
OR

(a)  With the help of diagram explain Isaac Newton’s experiment that

led to the idea that the sunlight is made up of seven colours.

(b)  What is atmospheric refraction ? List two natural phenomena

based on atmospheric refraction.

17. (a) TMIhd YUY ARG K HgEar 4, ot gnEr @y s, g
FeaTRd: JUHE 9T YaTed 8 &l 8, b HRU raehid & @Al H
Yo w4 & fou forefl SieaTT 1 v i |

(b) cfavgEd se frem foafen ot we fifvw fo6 sww wifeafa 4
Jrahia 8 6 foan Fuffa s@ d oz Fem P yR e a1 2 1 5

(a)  With the help of labelled circuit diagram, describe an activity to
illustrate the pattern of magnetic field lines due to a straight

conductor carrying current in vertically downward direction.

(b)  State right hand thumb rule and explain how this rule is useful to

determine the direction of magnetic field in the above situation.

81/172 9 P.T.0.
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18. (a)
(b)

(c)

(a)

(b)

(a)
(b)

(c)

(a)

(b)

31172

HAT Y] I FAFLA-Toig T G |

= fou e ARt § Iufedra SehrITcReh TEl i 989 hifT :

i)  CoHgO

Gi)  CyHLO

AT 3R wTE & Thgror i dfeen d Sremn oA 7 | 3ok fomm @

AfeeT & wured 3R iy & oo w1 3w = T foRa Smar 2
Jroran

T YR B Sifufsean d9 % T staves oft vt 1 3g@ W 7T

= fou o war i

(i)  TIAATA hl TIATEH A §

(i)  TAH P T H

(iii) UIHTA 3T WATgeh 3TFA ol TEL |

STk |eft FuTaeTt i fou Tw At IgE ot hifd |

greAt sl gorT | feeteiel (3TumTSiehl) i WAfHehar € STt & | &I 2

(T3 TH BT Q)

Draw electron dot structure of methane molecule.

Identify the functional groups present in the following compounds :
(1) CoHgO
(i) CoH4O
A mixture of oxygen and ethyne is burnt for welding. Why do you

think a mixture of ethyne and air is not used for welding ?
OR

Carry out the following conversions giving complete conditions for
the reaction to take place in each case :

(1) Ethanoic acid from Ethanol

(ii))  Ethane from Ethene

(1i1) Ester from Ethanoic acid and ethanol

Also state the names given to all the above conversions.

Detergents are preferred over soaps. Why ? (Give one reason)

10
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19. (a) 39 gig3di & AW fAfGu S 79 STEhI W had T HH W E I &

Bl

(b) TSI & TR T IS0 AR AT 3R 9o & o= fades hifse |

(c) e srfufshan o= gt 8 2 391 e fofEy | 5

(a) Name two metals which are obtained from their ores by simple
heating.

(b)  Differentiate between calcination and roasting, taking examples of
zinc ores.

(c) What is thermit reaction ? State its significance.

20. (a) AU ST R TWHIHAT A hi guF foem gerd §, 9 S

Tfsham & & 39 o 1 firafie §
3 oFl SRS H S99 <kl foem ug=nfe ot 39 819 arelt IfshaneT i
I i |

(b) TTeeHaH (YeiH) foRd whad € 2 il & =g ufshan g v Bt 2
NG ! TR | T T |

(¢) TS & 38 i &1 T fafage e ey s+ 8 | 39 ufdeafa &
3g@ hife red S gfg ek AT ST 39 L 3 | 5

Jrra

(a) s T=Ror gy Sitary] Sifa feredl g1 dshaon < A fafaue | 3@ s=a
ford TR foharm ST HehalT B 2
(b) ST (a) B FATC TT U & AfdTh =g 7 H Vb § TR o=
3T AT <hT FAT ST |
(¢)  TfRIeh Iur @t uM W ofiF At T g TR | 5

(a)  Although Amoeba and Leishmania, both show same mode of

reproduction, but the process of reproduction is carried out in
different ways.
Identify their mode of reproduction and mention the way it is
carried out in the two species.

(b)  What is regeneration ? Explain with the help of a diagram how
this process is carried out in Planaria.

(c) Name the part of Rhizopus in which spores are formed.

State the condition under which spores grow into a new individual.
OR

81/172 11 P.T.0.
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(a)
(b)

(c)

21. (a)

(b)

(a)

(b)

Name any two bacterial infections that are sexually transmitted.
How can they be prevented ?

List three different ways, other than the one stated in (a) above,
that help an individual to avoid unwanted pregnancies.

List three advantages for adopting contraceptive measures.

HUSHA R 319 TN o TI HeX & gl b1 <= i & 98 § g ol
Sl = ST |

“oitsitet 1 safseat & dimfors faerm & 98 wfisfisr o= aedt & 17 39
oA i gfee % foru g smen Hifvm |

List two reasons in favour of Mendel’s choice of pea plants for his
experiments.

“The geographical isolation of individuals of a species can lead to
formation of a new species.” Provide suitable explanation to justify
this statement.

HAT T

SECTION E

22. = feu U g # g M uiw SAMfad fhon | ¥ Tl g Stdfad feRtott Wi
A I ST ThTRT o 319 o W1 o1 ITeH ohid gC @i T8 § 3R eh
39T Toret 3Tat @iF g s Uiaferes <61 fedrfa 31 o | fomen T Eehar B
3 g fohton o1 3w foReft 3t ofw & Fy 9 2F; & o= foua Tt fomar &
gfafers 1 feafa, ass iR Jfd I & | i |

31172
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39 =R =Nl 3fud A H gy et arem Tt gy o w1 fepet fou
Y IAA @ GIT e Sldfers ST ek IHeRl Bk gl fuifid e foa
ST =ATET | 2
Out of the five incident rays shown in the following diagram, find any two
incident rays that are obeying the laws of refraction of light and may be
used for locating the position of the image formed by a convex lens.

Use these two rays in finding the position, size and nature of the image
formed when an object is placed between F; and 2F; of a convex lens.

1
2
3
4

oF,

OR

Write four steps in proper sequence which should be followed in the
determination of focal length of a given convex lens by obtaining a sharp
image of a distant object.

23. (a) TrHl 3= 3 30W & 9w < genfud =@ & 59 | 98 grn fo feu o
i § Ui i gE 129 oW I 3 W @ R | It 3| i
08 05A & o= 10 favyreH &, @ 129 faveH & deiey tHiet =
ISR 1 3 ?
(b) 9 forelt fogq uftmer o Uter o diceHier 1 fohm YR w=Nfora ed
8°? 2
(a) In a given ammeter, a student saw that needle indicates
12th division in ammeter while performing an experiment to verify
Ohm’s law. If ammeter has 10 divisions between 0 to 0-5 A, then
zth

what is the ammeter reading corresponding to 12*" division ?

(b) How do you connect an ammeter and a voltmeter in an electric

circuit ?

81/172 13 P.T.0.
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25.

IR gUh WEArerE I, 10, 111 3R IV § %& Hethe 1 Hiehl g0 foaee ot

A, 11, 111 3R IV ® A Cu, Zn 3R Al % & 1t MU | form/foma

TRO1/IRTOT H

(a) T Fothe oot o1 U1 wEHett (1) o foe™H o U1 & gud um ?
I T |

(b) HE "ok fIe@A &1 U1 HIhT (Fod) & TN a1 a1gei % IS W
e verd fafya g sme 2

A pale green solution of ferrous sulphate was taken in four separate test
tubes marked I, II, III and IV. Pieces of Cu, Zn and Al were dropped in
test tubes II, IIT and IV respectively. In which case(s)

(a)  the colour of ferrous sulphate solution will match with the colour
in test tube (I) ? Give reason.

(b)  the colour of ferrous sulphate solution will fade and black mass
will be deposited on the surface of the metal ?

T g @Akl § fag U dF fim TEe faeeE X, Y SR Z ° %8 3
TrEfh o H FO d U 7, R Ig H0 a1 g b faemm & @
gitafdd g X H g0, YH ot 3 Z 8 e 8t T g |

(a) Too= i X, Y 3R Z 1 37 pH & 9d (M) A § ¥afeyd hife |
(b) T il faerEl X, Y 3R Z # @ *-a faorm $Htewafad & 1 &

gfafeda am R w4 ?
YA

T Hohd & FHY foaed & 9FY 399 B drdl e % gEeh H
(a) e e fofeqg o 3R (b) el et fofeqd o &H W g B w1 Y0
AT B I 1 Feepy Feprerat 2, TRt 3g@ HIfNT |

On adding a few drops of universal indicator in three colourless solutions

X, Y and Z taken separately in three test tubes, a student observed the
changes in colour as green in X, red in Y and blue in Z.

(a) Arrange X, Y and Z in increasing order of their pH values.

(b) Which one of the three, X, Y and Z, will change the colour of
phenolphthalein ? Why ?
OR
State the observation and inference made by a student when he brings

(i) a wet blue litmus paper and (ii) a wet red litmus paper in contact with
the gas liberated during thermal decomposition of ferrous sulphate.

31172 14
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TS TS TTANTeh o3aer 1,
(a) 1Y WEHe § W e X IR IFarhR Fah H ot § W 9grd Y
I fafau |
(b) Troem Il 1 I 1 TR FW H= IS A1 7§ 2 2
P =
8 — Ty Tl

!
i

In the experimental set-up shown,

(a) name the material X filled in the small test tube and the material

Y placed at the bottom of the conical flask.

(b)  why is there a rise in water level in the delivery tube ?

7. N\

~

— Delivery tube

81/172 15 P.T.0.
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27. 18 B fgefiowh STl =t ipia s amgar 2 | 38 forw ar =won w6t 3fE

A T fafau aifes a- T8 &1 & Y= S R T | 2
AHYAT

Fr= feu U R w1 e 3 3E W Afehd W A, B3R Ch Am fafgw ;. 2

A student wants to germinate dicot seeds. Write the four steps in correct
sequence that will help him to perform the experiment in the right way.

OR
Identify the following diagram and name the parts marked as A, B and C :

31172 16



